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Building Standards in Educational and Professional Testing

SAMPLE PAPER PAYMENT SPECIALIST SSPA
VERBAL REASONING
Complete the sentences by choosing the most appropriate option, from the given lettered choices (A to D) below each.

1. Ali always seeks _____ wealth.

A. from

B. with

C. to

D. for

Choose the lettered word or phrase that is most nearly opposite in meaning to the word in capital letters.

2. PARTICULAR:

A. general

B. widespread

C. diffused

D. common

Choose the word most similar in meaning to the capitalized ones.

3. CHANGE:
A. alter

B. church

C. complete

D. decide

ANALYTICAL REASONING

Questions 4-7
An editor must choose five articles to be published in the upcoming issue of an arts review. The only articles available for publication are theater articles F, G, H and J, and dance articles K, L, M and O.

At least three of the five published articles must be dance articles.

If J is chosen, then M cannot be.

If F is chosen, then J must also be chosen.

4. If M is not chosen for the issue, which of the following must be chosen?

A. F

B. G

C. H

D. J

E. K

5. How many acceptable groupings of articles include J?

A. One

B. Two

C. Three

D. Four

E. Five

6. The choice of which article makes only one group of articles acceptable?

A. F

B. G

C. J

D. L

E. M

7. If G is chosen for the issue, which of the fol​lowing must be true?

A. J is not chosen

B. Exactly three dance articles are chosen

C. H is not chosen

D. All four of the dance articles are chosen

E. F is not chosen

QUANTITATIVE
8. The ratio of milk to water is 4:1, if there is 8 liters of milk, then find the volume of water in it?

A. 1 liters

B. 8 liters

C. 2 liters

D. 32 liters

9. A street Hawker is selling bananas at the rate of Rs. 60 per dozen. A man wants to buy 20 bananas. How much will he have to pay?

A. Rs 60

B. Rs 80

C. Rs 100

D. Rs 120

SUBJECT
10. Liquidity ratios provide information about a company’s:
A. Long term ability to pay its short term debt
B. Short term ability to pay its short term debt
C. Short term ability to pay its long term debt
D. Long term ability to pay its long term debt
11. Which of following is NOT a Financial Intermediary?

A. Commercial Bank

B. Leasing Companies

C. Insurance Companies

D. Mutual Funds

12. The independent auditor of year 1900 differs from the auditor of today in that the year 1900 auditor was more concerned with the:
A. Validity of the income statement
B. Determination of fair presentation of financial statements
C. Improvement of accounting systems
D. Detection of irregularities
ANSWER KEYS
	Q. #
	Right Choice

	1
	D

	2
	C

	3
	A

	4
	E

	5
	C

	6
	A

	7
	E

	8
	C

	9
	C

	10
	B

	11
	B

	12
	C
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